
Lecture Recap
DAD/DAS Building Blocks

Demand for goods/services: Yt = Ȳt ≠ –(rt ≠ fl) + ‘t

Fisher equation: it = rt + Et [fit+1]
Phillips curve: fit = Et≠1[fit ] + „(Yt ≠ Ȳt) + vt

Adaptive expectations: Et≠1[fit ] = fit≠1

Monetary policy rule: it = fit + fl + ◊fi(fit ≠ fiú
t ) + ◊Y (Yt ≠ Ȳt)

I 5 equations; 5 endogenous variables (Yt , fit , rt , it ,Et≠1[fit ]).
I 4 exogenous variables (Ȳt , fiú

t , ‘t , vt); “shocks”.
I 5 parameters (–, fl, „, ◊fi, ◊Y ).
I One predetermined variable (fit≠1).
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I Dynamic AD curve:

Yt = Ȳ ≠ –◊fi
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